PR

EERE 4 TG AZH | ZREWFRELERK BOA A B B B B [ITR—] iR — B S 5 R 2 ) [ TRk B A o R ot
104035125100035 |34k | TrRaerE22fw  [125100 | T 150[69 [0 0 219 83.00 [0.00 [94.50 [92.20 |80.68
114145511640284 |yL#EE | TREESEE [125100 | TREEE 123[70 |0 0 193 84.60 |0.00 |85.60 [85.40 |72.76
804015125300008 | % & TRE ﬂi"hﬁm 125100 | TREE 126186 [0 0 212 88.40 [0.00 [86.60 [86.96 |77.18
100035059004726 | 5115 TS 125100 | TRIEE 106[61 [0 0 167 76.00 |0.00 [83.80 [82.24 |66.30
114145511640157 |75 TREE%RE 125100 |TEEE 92 [72 |0 0 164 90.40 |0.00 [87.00 |87.68 |67.87
114145511640294 |itHEys | TRIE %R [125100 | LT 99 165 |0 0 164 89.40 [0.00 [92.00 |91.48 [69.39
114145511640298 | £ plifE IP% FIE e [125100 |TiREE 117162 [0 0 179 80.20 |0.00 |85.60 |84.52 [69.61
114145511640060 | £ILH wEErE [125100 | TREE 111[61 [0 0 172 84.00 [0.00 [86.00 |85.60 |68.64
102905250702090 | E #4 I?E'ﬁ"ié‘ﬂi#‘-"ﬁf"i 125100 | TRy 98 [74 |0 0 172 81.00 [0.00 [82.60 [82.28 {67.31
114145511640303 [Fe K | TEEESER (125100 | TREE 112[52 |0 0 164 85.60 [0.00 [89.00 |88.32 [68.13
114145511640308 | £k TrEE2k (125100 | TREHE 109[65 [0 0 174 86.80 [0.00 [84.00 |84.56 [68.62
114145511640197 | Fi%d | TREE2Ek  [125100 | TEEE 87 |78 |0 0 165 90.20 [0.00 [92.00 [91.64 [69.66
04426240504499 PEH ~ | TEETE2ER - [125100 |TRE®E- ~[114]72 [6= |0 - |186 |« . -4 87.40 |0.0Q. |[84.60 [85.16 |[¥1.26
114145511640312 | F25/ | TREESEE 125100 [THEE 98 [72 |0 0 170 87.40 [0.00 [86.00 [86.28 [68.51
114145511640031 | R %4 | TSR [125100 | TREE 100[73 |0 0 173 86.20 [0.00 [86.00 |86.04 [69.02
114145511640037 | R &7 | TrREESR (125100 | TR E 98 |64 |0 0 162 88.20 |0.00 |84.40 |85.16 |66.46
114145511640321 | W) "Bl | TREHEYER [125100 | TRITE 129]79 [0 0 208 87.00 [0.00 [89.10 |88.68 [77.07
114145511640160 |4 TREE2RE [125100 |TREE 121156 [0 0 177 |71 0 88.60 [0.00 [86.60 [87.00 |70.20
114145511640325 | E 58 | TrRIEESk (125100 | TR 108[60 [0 0 168 87.40 [0.00 [87.00 [87.08 |68.43
114145511640086 |13 TrE®EsEk [125100 | TRy 127[60 |0 0 187 89.00 [0.00 [88.60 |88.68 |72.87
103855251310325 | #1H, THREEEE 125100 | TEHE Ei 11447 |0 0 161 84.30 |0.00 [87.30 |86.70 |66.88
114145511640088 |H-377F | TR ESk  [125100 | T 10569 [0 0 174 86.40 |0.00 [86.00 [86.08 [69.23
114145511640344 |5 )1] TREESR (125100 IF‘EHE‘EE 97 |66 |0 0 163 81.40 [0.00 [85.80 |84.92 [66.57
114145511640061 |3k 8 | TR EEseRs  [125100 | TRrsE 112162 |0 0 174 85.60 [0.00 [88.80 [88.16 [70.06
114145511640158 |7k %% | TR EE SR [125100 | TR E 11447 [0 0 161 |64 0 82.60 [0.00 [82.60 [82.60 [65.24
100805041000414 |5k #FE | TREEYR [125100 | TEEE 13960 |0 0 199 |66 0 82.60 [0.00 [86.40 [85.64 |74.06
114145512021266 |5kifh | LREESER  |125100 | THEE 103[62 [0 0 165 85.00 [0.00 [83.80 [84.04 [66.62
114145511640034 [3k143E | T EE %R 125100 | TREEHE 10459 [0 0 163 84.20 |0.00 |87.60 67.37
100075000003433 |5k Hi THEE2R 125100 | TR 89 |71 |0 0 160 89.20 [0.00 |87 87-441:/66,98

114145511640237 |3k TR E2E  [125100 | TrRerE 132|163 |0 0 195 85.20 [0.00 |90.00x189:04"|74,

7= ol A ek faras i
114145511640038 |k ¥ | THEEZER (125100 | TrREE 111[73 [0 0 184 90.60 ]0.00/188:80 [89i16- [72.46:1
114145511640245 [#X % TrEs2k [125100 | Tiem 109]66 |0 0 175 89.80 |0.00%[87:40 g’% 70.15-%
114145511640082 | X% TrEEE2R [125100 |[TrEsE 102[58 |0 0 160 87.40 [0.004}87.80 |87.721167.09;
U7 ‘::‘k:_\\ -

SE N

¢. XX




LR w2 TR R SRR FECE TR BLyA Ak 45 b 4518 B 4y [ — i = B M g 8 B T A 22 R ] A R 4t
114145511640249 |24 1E TREEER 125100 | THEE 98 [65 [0 0 163 [60 0 86.80 [0.00 [85.40 |85.68 [66.87
114145511640008 |sr ki | TR EZE5 [125100 | TS 107]59 [0 0 166 85.40 {0.00 [90.00 |89.08 {68.83
114145511640196 |4k &8 | TS ESRE [125100 | THREE 111][54 |0 0 165 85.80 |0.00 [88.00 [87.56 [68.02
114145511640259 |k Em | TR B2 [125100 | TRgiEE 12844 |0 0 172 78.00 [0.00 [84.00 [82.80 |67.52
101735200006882 | = TREE2RE [125100 | TEHERE 102]73 |0 0 175 89.00 [0.00 [88.00 [88.20 [70.28
114145511640032 |48 5 | TR #E42ke  [125100 | TEEHE 109]57 |0 0 166 80.80 |0.00 [84.00 [83.36 |66.54
102725000001398 [ W liaF | Trtr=2eke 125300 [&it 142]78 [0 0 220 82.50 [68.00[/72.80 [72.82 [73.08
114145541222677 | Wass [T EE R [125300 (£ 134]76 |0 0 210 81.00 |74.00]/90.00 [81.80 [75.90
804015125300012 |# = |TEEEZEEKE [125300 (£t 133]79 [0 0 212 86.50 [72.00[65.40 [72.26 [71.46
100365999909404 |BrmRHT | TREE B2 [125300 [£&it 137180 [0 0 17 90.00 |60.00(63.80 |67.52 [69.93
114145511640004 | #15F TREE2 [125300 |21t 136182 |0 0 218 89.00 [60.00[88.00 |77.00 |74.83
114145511640133 |76 TEEEER |125300 |&i 15770 |0 0 907 83.00 |66.00[82.00 [75.80 [75.73
100345229971180 |[/Biir | TrE®E 2k [125300 |£&it 147177 |0 0 224 88.50 |66.00]71.40 |72.66 [73.66
102725000006405 |7 & T EER 125300 |£&it 142183 |0 0 225 88.50 [66.00[71.40 [72.66 [73.83
114145511640011 |5F3F |TREE2%ERE 125300 |24t 132[81 |0 0 213 84.00 |80.00[86.00 [83.20 [77.10
114145521131749 |57 TREEER [125300 |&it 137]84 |0 0 221 92.00 |78.00(89.00 [85.20 [79.43
105325431511573 | AT | TEEEZE  [125300 (&1 139[78 |0 0 217 84.00 [76.00[82.80 [80.32 [76.33
114145541222685 |#A2K TREE2R [125300 |&it 136]80 [0 0 216 81.00 [82.00[89.00 [84.60 |78.30
114145541222686 |k TREE2ER (125300 |&it 15072 |0 0 29 80.00 [62.00[85.00 [74.80 [74.40
114145511640273 | kT | TR EEYk  [125300 [&it 149169 |0 0 218 81.00 162.00[79.00 [72.60 [72.63
114145511640342 |Z=Eis | TEEE2ER 125300 |[£4 149(85 |0 0 234 88.00 [73.00[92.00 [83.60 [80.80
114145537012145 | = Hig | TREE%ER 125300 |&it 141]77 |0 0 218 83.00 [65.00[70.00 [70.60 [71.63
114145511640040 |Z=3E% | TREE%RE 125300 |[&if 148184 [0 0 232 83.00 [72.00]85.00 [79.40 [78.37
114145537022342 |Z=3H TREEEEE (125300 |&it 139]78 |0 0 217 82.00 |66.00/63.00 [68.00 [70.17
114145511640044 | 238 TREEE2ERE |125300 |&i 16081 [0 0 241 84.00 |77.00]/95.00 |85.60 [82.97
105205670611681 [xI&ly |TREFE2kR  [125300 |£it 134]84 |0 0 218 77.00 [70.00]78.80 [74.92 [73.79
114145532202026 | %1 7 TREE%ER (125300 |t 156]79 [0 0 235 74.00 |74.00[90.00 [80.40 [79.37
114145511640191 | S Hj TrREE2%R (125300 [t 143[80 |0 0 223 84.00 78.57
114145511640066 | E443% | TEEHE SR (125300 |£it 161[68 [0 0 229 78.00 77
114145537112501 | %M | THREEZER 125300 |£it 13680 |0 0 216 70.00 75.

114145511640070 |Bf 5 |THEEZER 125300 |£&it 136[74 |0 0 210 84.00 ! 76804
114145512021264 | £/ | T E =S 125300 |&it 136[82 |0 0 218 89.00 [67.00185.00 % 75.63%
114145511640075 | R Poi | TEEE2ERE (125300 |£it 154166 |0 0 220 88.00 [61.00[85.00 [76/08 17467 |
114145533012032 |/ F 2 TREE2ERE (125300 |£i 13381 [0 0 214 89.00 |64.00(85:00 [77.80°|74.5%/
114145513101476 | T/ | TREE2R  [125300 |£it 137182 |0 0 219 80.00 [79.00484:00 |81:20 [77.10

v N'" > ";\;\005.2:’;’&
A .

S0 LY Lkl/g




LT W4 FHEREZR | R AYFIE W EZR BUA Bk -k 53 2 4 Dimil — Lk = ] 4018 ped 22 3 al ] B R B g
114145511640195 | £ & TREESE 125300 [&it 137[85 [0 o 22D 92.00 [80.00]/96.00 [88.80 [81.40
114145511640145 | £ 7% TrREHE%kK [125300 |&it 148[75 [0 |0 223 83.00 |62.00(/86.00 [75.80 [75.07
114145511640147 | 285 | TREHE %K (125300 |£&it 133|177 J0 [0 210 89.00 [80.00]88.00 {85.00 [77.50
114145511640220 [[HBRE | TREHESE 125300 [&if 137[76 [0 |0 213 80.00 [60.00[89.00 [75.60 [73.30
100545000002446 | P ki | TREHE 2 [125300 (&4t 139{78 |0 Jo 217 82.00 [69.00]60.20 [68.08 [70.21
114145511640165 | Z i TrEHE%2KE 125300 |&i 148[78 10 Jo 226 79.00 [60.00]86.00 |74.20 [74.77
114145511640200 |7 A THEHEER 125300 |&1t 140]76 |0 0 216 79.00 [79.00]76.00 |77.80 [74.90
114145542282990 [XFEM | TrEE %Mk 125300 [£&if 135[77 |10 |0 212 90.50 [73.00]89.40 [83.06 [76.86
114145514131586 |4 TRIEHESKR 125300 |&it 144[71 [0 |0 215 89.00 [76.00[89.00 [83.80 |77.73
114145537022348 [ ikfF | TrIEEH ¥k (125300 |&it 134[82 |0 |0 216 89.00 [79.00[8 %73.10
100365113602766 |2 EH| | THEEZR (125300 (&t 143[78 |0 0 221 84.00 67.0“% 6904 §71.35
114145541222706 | MBuith | TEEHE SR [125300 (&1t 14280 |0 0 222 87.00 |75.00}86:00 [81.80.477.90
114145511640062 |E 2 E | TEEHE2k [125300 (&t 134[81 [0 ]O 215 89.00 |60.00188.00,[77.00 |74.33
114145511640064 |F MG | TrEEE%k 125300 |2t 139]74 |0 0 213 90.00 |83.00]88.00°§86.40 {78.70
804025511100937 | /& & TREHE%R [125300 |&if 141181 |0 Jo 222 83.00 [60:00]79.807(72.52 [73.26

\= ST S S

\ &4 ; £ 4

! 5 2 \?*.:»Q*% \ G -

BERWIR 2hd N

WVS. . 1’?




